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Table S1 Reaction optimization studies to form 7 & 8

e
OH o} SN OH O\

N
@\)1 ' &OHJr [j " O y O + O O ’\“/
r
oo OH Solvent, Temp o o N~ (o6

‘ 0%

1a 2a 6a 7aaa 8aaa
Entry Lewis acid Solvent Temp Yield of 7aaa

(20 mol%) (°C) (%)°

1 -- DCE r.t. 24

2 -- DCE 90 28

3 -- DCE 120 28

4 Bi(OTf); DCE rt. 29

5 Bi(OTf); DCE 90 44

6 Bi(OTf); DCE 120 44

7 AlCl; DCE 90 35

8 BiCl; DCE 90 38

9 FeCls DCE 90 28

10 BF;.0Et, DCE 90 c.r.m.c©

11 BF3.0Et, Toluene 90 c.r.m.c

9Reaction conditions: A mixture of 1a (0.5 mmol), 2a (0.5 mmol) and 6 (0.6 mmol) in the presence of Lewis acid was stirred as mentioned
above in the table. %Isolated yields after column chromatography. ‘c.r.m. = complex reaction mixture.
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'H-NMR (400 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (400 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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19F NMR (376 MHz, CDCl;)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (400 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (400 MHz, CDCl5)
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'H-NMR (400 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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19F NMR (376 MHz, CDCl;)
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'H-NMR (400 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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'H-NMR (500 MHz, CDCl5)
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